badmephisto's Speedcubing Guide

Arranged by Andy Klise of kungfoomanchu.com

First 2 Layers

You must solve the cross first. It can be done in 6 moves or less ~82% of the time and <7 moves 99.95% of the time
These are just optimal example solves; F2L should be solved intuitively.

Easy Cases (1-4)
U (RU'R")

oriented properly on final slot

y' (R"U'R)
Note - this image is blue and red
because a cube rotation is required
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Reposmon Edge (5-8)

(URUR") U?(RU'R")

U' (RU? R") U? (RU'R)

Q4

Repo

]

d (R"U' R U)(R'U'R)
y2U' (LU) d' (L'U'L)

U' (RU? R d (R'U'R)

d (R'UR U)(R' U'R)
y' U (R'UR U')(R' U'R)

Q4a4a

Split Pair by Going Over (15-18)

y'(RRURUYd (RUR"Y
y(L'UL) U’y (RUR")

(RU?R") U (RUR

£4:

v
)
=
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ade on Side (19-22)

U((RUZR) U (RU'RY

U2 (RUR'U)(RU'RY

L%

Q.

Weird (23-24)

@

U2R2U? (R'U'R U") R?

Use (R' F R F') if no U face edges are

(RUR'U)U' (RUR'U)RUR

y' U' (R' UR)

Use (F R' F' R) if no U face edges are

oriented properly on final slot

(RUR)

Note - this image is green and red
because no cube rotation is required

d (R'U'R) U? (R' UR)
y' (UR'"U'R) U2 (R'UR)

d (R' U2 R) U (R' UR)
y' U (R'U>R) U? (R' UR)

ition Edge and Flip Corner (9-14)

U' (R UR' U)(RUR

d(R'"U?R)d' (RUR")

U'(RU' R"U)(RUR")

(RU'R"U)d (R"U'R)
(RU'R") U (F'U'F)

y' (R" U2 R) U (R' U'R)

y' U' (R'"U%2R) U' (R'UR)

y' U% (R' U' R U")(R' UR)

y'(R"U'"RU) U (R"U' RU)(R"U"R)

y' U’ R2U? (R U R' U) R?
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Corner in Place, Edge in U Face (25-30)

d((L'UL)d (RU'RY)
yU (L'U'L)U (FUF)
U (FUF)U(RU R

(RU'R' U)(R U'R")

y' (R"U' R U)(R' U'R)

&84&;

URUR)d (L'UL)
U(RU RYU (FFUF)

y'(R"URU")Y(R'UR)
(RU'R") U2 (F'UF)

(RUR'U)YRUR

Edge in Place, Corner in U face (31-36)

(RU'R") d (R' UR)
(RU' R'U)(F' UF)

(U'RU'R") U?(RU'RY)
yU' (LU'L"Y U2 (LU L)

(URUR"Yd(R'"U' R)
U2 (RU'R)U' (F' U'F)

Q€

Edge and Corner in Place (37-42)

Solved Pair

y (L' U'L) U? (L' U LUY(L"U'L)

y (L'U'LUYL'UL)U>(FUF)
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(RU'R)U' (RUR") U?(RU'RY

(RU'R")d (R"U"RU")(R"U"R)

‘. Color Coding
Red = R U R' U' Family
Green = R U R' U Family
Blue = R F' R' F Family

(RUR'UYRUR' U)RUR)

U (RU*R)YU(RURY
U(RUR)UZ2(RURY
d (R'"UR) U? (R'UR)

d(R"U'R)d' (RUR"Y
yU2(L'UL)U(FUF)

(RU'R") d (R'U?R) U¥ (R'UR)

(RUR"YU?(RU?R"Yd (R'U'R)

(RU'R'"U)RU*R)YU(RU'RY

(RUR")U? (RU'R'U)RUR"

(RU'R) d?y (R"U" RU")R'UR)

(RUR'UY)YRU'R)U?(F' U F)
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Credits

badmephisto - http://www.badmephisto.com
Andy Klise - http://www.kungfoomanchu.com
Josef Jelinek - http://software.rubikscube.info/icube/
And everyone else

For great speedsolving video tutorials, visit -
http://www.youtube.com/user/badmephisto

For more printable guides just like this, visit -
http://www.kungfoomanchu.com/

gee EE 428


http://www.badmephisto.com/
http://www.kungfoomanchu.com/
http://www.kungfoomanchu.com/
http://www.badmephisto.com/
http://www.kungfoomanchu.com/
http://software.rubikscube.info/icube/
http://www.youtube.com/user/badmephisto
http://www.kungfoomanchu.com/

Orient Last Layer (Two Look)
Step 1

Bonus

—  F(RURU)F

H f(RUR U)F _

Probability = 2

Probability = %

H H[F(RUR' U)FIf(RUR U )]

Probability = 1/8 =

Move to Second Look
Probability = 1/8

Orient Last Layer (Two Look)
Step 2

All Edges Oriented Correctly

T 1

(RUR'U)RU*R'
Probability =4/27

H [f RUR U)FI[F (RUR U)F]
RU* R* U R*U R* U?R
H Probability =4/27

(rUR' U)(" FRF)
Probability =4/27

R?[D (R' U%) R][D' (R' U%) R]
Probability =4/27

RU’R'URU R
Probability =4/27

F(RUR U)RUR U)RUR U)F
y(R'U'R)U (R UR)U (R U’R)

Probability = 2/27

F(rURU)rFR)
Probability =4/27

Solved
Probability = 1/27

Notation

9wy

r/Rw r'/Rw'

VVVY W

u/Uw

VYvVVVVVeYy

For great speedsolving video tutorials, visit -

http://www.badmephisto.com or
http://www.youtube.com/user/badmephisto

u'/uw’

visit - http://www.kungfoomanchu.com

Permute

Permutations of Edges or Corners Only

R°U(RUR' U)R' U)R UR)

Ub - Probability = 1/18

M? UM UM UM U2 M U2
U'(RUR' U)R'U R U(RU R U)R*UR
Z - Probability = 1/36

x [(R' UR") D’][(R U' R") D] R?

Aa - Probability = 1/18

X[(R U R) D 1D [ D(RU R)] D'

X[(RU R)D Ju’[(R'UR) D (R U'R)]

E -Probability = 1/36

Swap One Set of Adjacent Corners

(LU* L' U*)L F)L' U LUYLF)L* U
Ra - Probability = 1/18

Ja - Probability = 1/18

(RUR' U)R' F)(R?2U'R)U (RUR'F)

—
ﬁ (R UL)U’RU R UHRLU)

t

P

¥

T - Probability = 1/18

79
v

Swap One Set of Corners Diagonally

(R UR d)R' F)R*U R U)R FRF)
V - Probability = 1/18

L . [(LUR)U (L' UR)[(L U R)U" (L' UR)] U

. Yy(RURU(UFURF)RURU(I'UR
“' Na - Probability = 1/72

Double Spins

RAUR'UR U RUR*(y R UR)
Ga - Probability = 1/18

For more printable guides just like this,

(RUR)Y RPURU R UR UR?

Gd - Probability = 1/18

Last Layer

(RU) (RU)R' U R?
Ua - Probability = 1/18

M? U M? U? M7 U M7
H - Probability = 1/72

X' [(R U'R) D’][(R' UR) D] R?
Ab - Probability = 1/18

Solved
Probability = 1/72
(RU'RU)HR F(RUR U)R F)RU

Rb - Probability = 1/18

(RUR' F)[(RUR' U)R F)(R*U' R) U]
b - Probability = 1/18

(R U'R d)R F)R?*U R U)R' FRU'F)
F - Probability = 1/18
FRUR U (RUR F)(RUR U)R FRF)]
Y - Probability = 1/18

) [(RUL)U (RU LR UL)U (RU L) U
Nb - Probability = 1/72
R°URURURUR*(yRUR)

Gc - Probability = 1/18

(RURYRURURURUR?
Gb - Probability = 1/18
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Orient Last Layer
Red = RU R' U' Family, Green = R U R'U Family, Blue = R F'R' F Family
Try to recognize each pattern by viewing the fewest number of faces
All Edges Oriented Correctly (OCLL1-OCLLS) (second part of three look last layer)

=

RU’R'URU R
OCLL2 - 26 - Probability = 1/54

(RUR U)RU’R'
OCLL1 - 27 - Probability = 1/54

HF

H
H

[f(RUR U)f][F(RUR'U)F]
RU*R* U'R?U' R* U’R
OCLL3 - 22 - Probability = 1/54

FRURU)(RURU)(RUR U)F
y(R'UR)U (R UR)U (R'U*R)
OCLL4 - 21 - Probability = 1/108

it

|

O |

(fUR'U) (" FRF)
OCLLS5 - 24 - Probability = 1/54

FrURU)(FR)
OCLLG6 - 25 - Probability = 1/54

I=

R?[D (R U) R] [D' (R' U R Solved
OCLLS8 - 58 - Probability = 1/216

OCLL?7 - 23 - Probability = 1/54

n tH HEH H.:n

H

=]

Corners Correct, Edges Flipped (E1-E2)

M'UMU?M UM
E2 - 28 - Probability = 1/54

(RUR'U)M (URU'I)
E1 - 57 - Probability = 1/108

—
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H

v
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=
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es (P1-P4)

f(RUR U)F
P1 - 44 - Probability = 1/54

fr(L'U LU)f
P2 - 43 - Probability = 1/54

HH

————

H
H

RUB'UR'URBR
RAL'dRURBR'
P3 - 32 - Probability = 1/54

W-Shapes (W1-w2)

RUFURURFR
y’L'dRdLUL'B'L
P4 - 31 - Probability = 1/54

it

(RUR'U)(RUR U) (R FRF)
I] W1 - 38 - Probability = 1/54

(LULU)L'ULU)(LFLF
W2 - 36 - Probability = 1/54

]
H

H

Squares (51-S2)

H
H

rv (RUR U)r
S2 - 5 - Probability = 1/54

rU’R'URU T
I] S1 - 6 - Probability = 1/54

"

—_——

hapes (L1-L6)

-
2]

FRURU)RUR U)F
L1 - 48 - Probability = 1/54

FULULULULUF
L2 - 47 - Probability = 1/54

A

— —=
—]

H
H

FULULULUL U . o .
H Hyzr‘U'RU'R‘URU'R‘UZr fUR'UURU R URU*r H H
H H L3-53-p N L4 - 54 - Probability = 1/54 H H
| - - Probability = 1/54 L
H (RFR F)RU’Y(R FRF) R'FR°B'R*F R°BR H
L5 - 49 - Probability = 1/54 L6 - 50 - Probability = 1/54
imm. L
Fish Shapes (F1-F4)
[ (RURY X (RU)R F)(RUR) RUR YR FRUR FR

(RURU)(R FRF)RU’R
F2 - 10 - Probability = 1/54

| RURU)RFRPUR U F
F1 - 9 - Probability = 1/54

—
=

i

==

FRURURUR'F
F4 - 37 - Probability = 1/54

(RU’R) (R'FRF) (RU*R)
F3 - 35 - Probability = 1/54

—_—
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H
H

For great speedsolving video tutorials, visit -
http://www.badmephisto.com or
http://www.youtube.com/user/badmephisto

Awkward Shapes (A1-A4)

RZUR'B'RU R?URBR'
A1l - 30 - Probability = 1/54

FH
H H

H
H

A3 - 41 - Probability = 1/54

H

Lightning Bolts (L1-L6)

&

H(rUR'U)RUZr'
L1 - 7 - Probability = 1/54

EH

[
H

|yCUR U)(RFRF)RU*r
L3 - 11 - Probability = 1/54

RB'RURUBUR
YLF(L'ULUFUL
L5 - 39 - Probability = 1/54

T-Shapes (T1-12)

—

—

e

[
H

H

FRUR U)F
T1 - 45 - Probability = 1/54
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C-Shapes (C1-C2)

RU R FRF)UR
C1 - 46 - Probability = 1/54

H
H H
H

-
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hapes (11-14)

R U RPUR' URU*X'UR' U
I1 - 55 - Probability = 1/108

H
H
H
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F(RURU)RF (URU)T
I3 - 56 - Probability = 1/108

—
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ght Move Shapes (K1-K4)
rUrM(RUR'U)(ruU'r)

—

Eu

H K1 - 16 - Probability = 1/54

I
I

—

FURUR’FR(URUR)
K3 - 13 - Probability = 1/54

H

[

=
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RU’R' (R FRF)U*(R FRF)
01 - 1 - Probability = 1/108

i

H
H

=]

03 - 3 - Probability = 1/54

H

[
I
[

[| [FRUR UF]Y U'(R FRF)
O5 - 18 - Probability = 1/54

HH

ﬂ
ﬂ

ﬂ

07 - 17 - Probability = 1/54

——]

I]
H

[(RUR U)RU?R][F(RUR U)F]

H [F(L'ULUFY[F(RUR U)F]

Edges Flipped Correctly (01-08)

[f(RUR U)F]U[F(RUR U)F]

(RUR'U(RFRF) u? (R'FRF)

(RURU)RURFUFRUR
[FRUR U)FJU’[(RUR U) (R FRF)
A2 - 29 - Probability = 1/54

[RU)(RUR U)R]Y[F(RUR' U)F]
(RFRF)(RFRF)(RUR U)(RUR)
A4 - 42 - Probability = 1/54

rvRrRU R Ur
L2 - 8 - Probability = 1/54

[FRUR U)FJU[F(RUR U)F']
L4 - 12 - Probability = 1/54
R[F(RUR U)F]UR

L6 - 40 - Probability = 1/54

(RUR U) (R FRF)
T2 - 33 - Probability = 1/54

(RUR?U) (R F)(RU)(RU)F
(RUR U)XD'R'URU DX
C2 - 34 - Probability = 1/54

(RUR'UYRARURF
RURURdIR URB
12 - 52 - Probability = 1/54

fRUR U)(RUR U)f
I4 - 51 - Probability = 1/54

UL ULU Ul
K2 - 15 - Probability = 1/54

RFRUR FRYRUR

K4 - 14 - Probability = 1/54

[FRUR UYF][f(RUR U)Ff]

02 - 2 - Probability = 1/54

[f(RUR U)FfJU[F(RUR U)F]
04 - 4 - Probability = 1/54

MURUR U)M (R FRF)
06 - 19 - Probability = 1/54

MURUR U)M?*(URU')
08 - 20 - Probability = 1/216

For more printable guides just like this,
visit - http://www.kungfoomanchu.com
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